Check alignment with Typel cosmic ray tracks

Type 1 tracks
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Check alignment with Typel cosmic ray tracks
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Residuals for Type 1 simulated cosmic ray tracks
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Residuals for Type 1 simulated cosmic ray tracks
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What causes the 'ears’?

o Computational artifact — only odd layers show ears.

o Two-hit clusters DON'T bracket the trackpoint on the
detector face.

e Put a cut on one ear.
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Can we cut off the 'ears’?
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Can we cut off the 'ears’?
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Can we cut off the 'ears’?
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Check alignment with simulated Typel cosmic ray tracks

Type 1 tracks

4 ——
P 3 .
4
/ = i =~ \\\ 2 ——
Z 1N \ %
/ //// / Q\ \\ \ -g 1 ——
A I \ \ E
So
\ \ |54
£
w
2 ——
3 ——
4 Expected resolution
Type 1 tracks. I
-100 -50 0 50 100

Residual Difference (outer-inner, um)

Jerry Gilfoyle CLAS12 Alignment 6/6



Check alignment with simulated Typel cosmic ray tracks
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